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Conceptual description of subgroup fill, step i

In the subgroup fill part of step 7, with “input subgroup” H;_1,
“output subgroup” H;, and H;_1 < H;:
» For the output corresponding to the jth element of H;,

» We form a linear combination starting with the input )
corresponding to the jth element of H;_1,

» Offset by the elements of the transversal, j

> With coefficients equal to the elements of the transversal
raised to the (—j)th power.
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Circuit diagrams: N=24 GG <G C6 < C12 < C24

Step 1, subgroup subdiagram: <LJ2_?-) = <L\)\z>
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